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(99 Hol) + (BH yol) x 2
=2(2x+3+3x-1)Bx+1) +2(2x+3)(3x-1)

=2(5x +2)(3x + 1) + 2(6x + 7x - 3)

= 30x% + 22x + 4+ 12x® + 14x - 6

= 42x% 4 36x — 2
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@16x2+8x—2 @ 16x>+8x+2
® 16x2-12x+ 4 @ 16x2+12x-4

® 16x* - 8x+38

2x{(x+1)2x+1)+ 2x+1)(2x-1) + (2x - 1)(x + 1)}
=2(8x% +4x—1)
= 16x% + 8x -2
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(x + 3y)2x = 2x2 + 6xy




A4 a, b, ¢ ol ot (5x + a)(bx + 6) = 10x% + cx — 54 & o,
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(5x + a)(bx + 6) = 5bx? + (30 + ab)x + 6a
5bx? + (30 + ab)x + 6a = 10x? + cx — 54

5b =10 Lob=2
6a = —54 Soa=-9
30+ab=c, (30—18) =12 Soc=12

ca+b+c=-9+2+12=5
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® 20x%-5x-3 @ 2062 -5x+3 ® 28x%2 +5x-3

@28x2—5x—3 ® 28x> +5x+3

(FAZB ] Wel) = (7h=) x (M=)
= (Tx+3)(4x—1)
=28x> +5x-3
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(3x + a)(bx + 5) = 3bx* + (15 + ab)x + 5a
3bx% + (15 + ab)x + 5a = 6x> + cx — 10

3b=6 Sob=2

da = —10 Soa=-2
15+ab=c, 154+ (-2)x2=15-4=11
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Ca+btc=(-2)+2+11=11




